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( pg-TEQ/€)
10pg-TEQ/ 1pg-TEQ/C ( 1
1 H20.6.5 | 0.012 | H0.9.11 | 0%
) H20.6.20 | 0.00060 - - H20.8
3 He1.2.12 | 0.000018 | K2r.2.12 | 0900
. 206 H20.8.25 | o.00047 | M0-8:25 | 9o
Het.2.4 | 0.00045 | Lo . 0.028
0.019
5 H20.9.5 | 0.000048 | H20.9.5 9.0
6 1506 H20.7.7 | 0.000066 | H20.7.7 | J-0000H
7 492 H20.7.9 | 0.00025 | H20.7.7 | 0.000047
8 TR H20.9.24 | 0.008 | H20.9.24 | 0.00038
9 61-1 H20.9.24 | 0.00003 | H20.9.24 | 0.00054
10 16-1,16-3 H20.9.24 | 0.0002 | H20.9.24 | 0.00041
1 30-4 H20.9.20 | 0.00007 | H20.9.29 | D901
12 6 H20.7.10 | 0.000016 | H20.7.10 | O-04
R % H20.7.10 | 0.0017 | H20.7.10 | 0.016
H20.12.11 | 0.000073 | H20.12.11 | 0.017
14 121-2,122-1\ o5 11.21 | 0.0011 H,fzol'_lll_'zzgl 8:85?
15 H20.11.21 | 0.0024 | H20.11.21 | 0O1%
16 452 H20.11.20 | 0.00003 | H20.11.20 | 323
17 28 H21.1.16 | 0.00037 | H21.1.16 u
18 16 He1.1.16 | 0.0060 | W21.1.16 | O
19 H20.11.20 | 0.00035 | H20.11.20 | 0.030
2 e H20.11.21 | 0.000036 | H20.11.21 | GO
o 60 1 H20.11.21 | 0.000057 | H20.11.21 [ 0%
» 10-1 H20.6.17 2.0 H2o.6.17 | 0008
2 57 1 H20.6.17 | 0.000045 | H20.6.17 | O 002
2 11 H20.10.15 | 0.00055 | H20.11.10 | 0.016
2 H20.11.17 | 0.000024 | H20.11.17 |  0-3%0
2% H20.11.10 | 0.00054 | H20.11.10 | 098




(

pg-TEQ/€)

10pg-TEQ/ lpg-TEQ/E ( 1
. 1821 3 H20.5.15 | 0.00017 :gg:g:ié 00_'014?1;
. H20.12.9 | 0.00056 | H20.12.9 0.080
» 14-2 H20.6.26 | 0.018 | H20.6.26 8:83?
" H20.12.2 | 0.00079 | H20.12.2 0.079
N H20.5.1 | 0.0010 H20.5.1 0.062
» 231 H20.7.15 | 0.00073 | H20.7.15 8
3 vo.7.15 | o.00028 | w20.7.15 | 55002
“ 1 H21.1.5 | 0.00012 H21.1.5 8:8%
" 59 H20.5.20 0.12 :38:2:38 g:ggggég
“ 35 H20.8.19 | 0.00017 | H20.8.19 8:8332
- 189-1 H20.8.19 | 0.0095 | H20.8.19 8:888333
“ 2 51,5-2,5-3 | H21.1.30 | 0.00074 | H21.1.30 0.023
N 8 1 H21.1.8 | 0.017 H21.1.8 0.079
o 87 5 H21.1.8 | 0.018 H21.1.8 0.079
R 87 14 H21.1.8 | 0.000018 | H21.1.8 8:822
o 1-68 H20.7.11 | 0.12 H20.7.11 0.039
w 2 H20.10.8 | 0.071 H20.10.8 8:823
- s | G
N H20.9.1 | 0.000024 | H20.9.1 8833471
- H20.8.11 | 0.00032 | H20.8.11 8:823
N H20.8.11 | 0.00037 | H20.8.11 8:838
R 58 H20.8.11 | 0.00012 | H20.8.11 8:823
w“ H20.10.2 | 0.00010 | H20.10.2 8:818
- 1-28 | H20.8.22 | 0.015 H20.8.22 8:823
N 19 | H20.6.25 | 0.00068 | H20.6.25 8:8%
- o s | om | e | S
- 25-1 | H20.7.14 | 0.00019 | H20.7.14 00_‘000%8117




( pg-TEQ/€)
10pg-TEQ/ 1pg-TEQ/E ( 1

H20.10.8 0.32
54 961-1 H20.10.8 | 0.000075 | 559015 | 0.000028
55 | Wo0.4.25 | 0.85 H20.4.28 0.083
56 41| H20.4.25 | 0.000054 | H20.4.25 0.32
2- 0.10

57 ” H20.10.9 | 0.00017 | H20.10.9 | o
58 H20.10.9 | 0.000048 | H20.10.9 0.13
165 -10. - -10. 0.075

0.063

59 ) H20.6.9 | 0.0090 | W20.6.11 | 003
0.053

60 H20.12.18 | 0.00023 | K20.12.18 | o003
70- 0.073

61 ) H20.10.1 | 0.45 H20.10.1 5
62 1 | H20.10.1 | 0.00047 | H20.10.1 0.12
-10. . -10. 0.063

63 H21.1.14 | 0.16 H21.1.14 | 0.017
64 H20.11.6 | 0.043 H20.11.6 | 0.042
1 0.024
65 H20.9.11 | 0.021 heo.9.11 | S0
0.12

66 H20.6.16 | o2
) . 0.037

1 2-8-2 H21.1.29 0.0 H21.1.29 P
0.11

2 ) 11 15 H20.7.31 | 0.0028 | H21.1.31

0.14

0.028

3 ) 757 3 H20.10.23 0.0 H20.5.26 | 08
0.027

4 ) 252,225 H20.10.23 | 0.036 | H20.5.26 | 032
0.030

5 ) ) 31 H20.10.23 0.0 H20.5.26 | 0-0%
1-13,1- 0.027

6 ) ) [65.1-75.1-79.2-1.3-3,49 50| H20-10.23 0.0 H20.5.26 | 07
) 0.70
7 H20.5.8 | 0.000018 | H20.5.8 oo
0.063

. O 1 | H0.8.18 | o0.000033 | f20-8-18 0.063
3 Hel.2.13 | 0.000027 | . .| o.062

-2 0.062

pg-TEQ €




pg-TEQ/L)

10pg-TEQ/L 1pg-TEQ/L
380 71 20.3.13 0.027 H20.9.11 0-10
0.10
) 134-6 | H21.1.19 0.016 H20.5.19 8:888%3
D) -1 3 1119 0.0078 H20.5.19 000041
6 = aw | ow | @im | i
. 1129 1 p0.8.21 | 0.00098 H20.8.21 0-033
) 253
338 | H21.1.29 0.031 o1 1o 0.0
R T vt B
4-5-5 H20.10.17 8.9 H20.10.17 0.0
, 2-8-2 | ypo.6.11 0.0016 H20.6.11 8:823
)
282 | p1.1.29 0 H21.1.29 0-031
1 H20.7.31 0.0028 H21.1.31 on
cot H20.7.31 0.0028 H21.1.31 on
o H20.7.31 0.0028 H21.1.31 on
y H20.7.31 0.0028 H21.1.31 on
11-1 21 H20.7.17
) cors H20.5.16 1.6 H20.5.16 0-018
o5 H20.10.17 | 0.00011 | H20.10.17 0o
43 | H20.11.28 | 0.00091 | H20.11.28 0.13
s 0.28
) 89-1 13 H20.6.25 0.017 H20.6.25 8833
() il 14 H20.6.25 0.017 H20.6.25 8:838
s s H20.10.23 0 H20.5.26 0.0
s a1 . 7 H20.10.23 0 H20.5.26 0.2t
) A H20.5.8 | 0.000018 | H20.5.8 0,00
97-
12
; 4-103 | 1p0.12.15 3.1 H20.12.15 8:32
31 H20.7.9 | 0.000012 | H20.7.9 020
L s H20.11.20 0.086 H20.7.26 0.0
) ot H20.5.14 0.021 H20.5.14 0.075
0.075
145 | H20.9.10 0.0018 H20.10.8 0.14
11 10 0.9
() o u H20.11.28 0.77 H20.11.28 0.0




( pg-TEQ/L)
10pg-TEQ/L 1pg-TEQ/L
)

32 51 o H20.6.11 0.0071 H20.6.11 0.16
0.076

33 () 51 a1 H20.7.8 0.018 H20.9.10 o
0.000051

() 10 H20.10.31 oo
H20.8.18 | 0.000033 | H20.8.18 8822
35 () '

1 34 H21.2.13 | 0.000027 | H21.2.13 0.062

-2 - -2 0.062

36 42 H21.2.6 | 0.000074 | H21.2.6 0.017
a7 ) . H20.11.11 | 0.00057 | H20.11.11 0.068

pg-TEQ/L
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